
B O L D R  E X P E D I T I O N
E N I G M A T H



H O W  T O  U S E  T H E  
E X P E D I T I O N  E N I G M A T H
S L I D E  R U L E  B E Z E L
Your  new BOLDR EXPEDIT ION ENIGMATH i s  equipped wi th  a  s l ide  ru le  bezel ,  o f fer ing a  var ie t y  o f  analog 
calcu la t ions  and measurements  to  p lay wi th .  I t  may be daunt ing a t  fi rs t  g lance,  bu t  easy  to  mas ter  a f ter  a  few t r ies .  

Br ie f  no tes  before  we dive  in :  
• The red ‘10’  markers  on the  inner  & ou ter  bezels  are  known as  un i t  index markers ,  our  re ference poin t s  to  use      

  the  sca les .   

• Decimal  poin t s :  I f  the  resu l t  o f  9  x  12 reads  ‘10.8’  on the  sca le ,  we s imply  adjus t  dec imals  to  the  expected                 
  va lue of  above 100.  Hence,  we read 108.

• Rounding up to  the  neares t  figure  may be requi red.  For  ins tance,  es t imate  ‘948’  to  be 9.5 on the  sca le  before   
  ca lcu la t ion ,  then adjus t  the  necessar y  dec imal  poin t s  a f ter.
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Cons ider  an example  of  7  x  12.  Se t  the  un i t  index on the  ou ter  sca le  oppos i te  ‘7’  on the  inner  sca le .  The 
bezel  i s  now al igned to  a l l  mul t ip les  o f  7.  

Read the  answer  oppos i te  ‘12’  on the  ou ter  bezel ,  which  i s  ‘8 .4’  on the  inner  sca le ,  84 af ter  adjus tment .

M U L T I P L I C A T I O N

U N I T  I N D E X



Le t ’s  take a  div i s ion  example  of  120 by 8.  P lace ‘12’  ( represent ing 120)  on the  inner  sca le  oppos i te  ‘80’  
( represent ing 8)  on the  ou ter  sca le .  Read the  number  oppos i te  the  ou ter  un i t  index to  ge t  the  answer  15.

D I V I S I O N



C A L C U L A T I N G  
S P E E D  ( M P H )

In  order  to  ca lcu la te  speed,  we wi l l  requ i re  the  va lues  o f  t ime and dis tance.  

Example :  Given dis tance t rave led =  120 mi les  over  a  t ime of  40 minu tes ,  what  i s  the  ground speed?

Al ign ‘12’  on the  ou ter  sca le  ( represent ing 120)  oppos i te  ‘40’  on the  inner  sca le .  Read the  speed a t  the  12 am / pm 
marker ,  which  shows 18.  Adjus t  dec imals  to  180 mi les  per  hour.  



C A L C U L A T I N G  
S P E E D  ( K P H )

The same pr inc ip le  i s  used to  ca lcu la te  ground speed in  k i lometers  per  hour ,  g iven the  va lues  o f  t ime and dis tance.  

Example :  Suppose dis tance t rave led =  100 k i lometers  over  50 minu tes ,  what  i s  the  ground speed?

Al ign ‘10’  on the  ou ter  sca le  ( represent ing 100 km)  oppos i te  ‘50’  on the  inner  sca le .  Read the  speed a t  the  12 am/pm 
marker ,  which  shows 12.  Adjus t  dec imals  to  120 k i lometers  per  hour.  

 .



C A L C U L A T I N G  
T R AV E L  T I M E

To calcu la te  t rave l  t ime,  we wi l l  requ i re  va lues  o f  di s tance and speed.  

Example :  Given dis tance t rave led =  80 km at  a  speed of  240 k i lometers  per  hour ,  what  i s  the  t rave l  t ime?

Al ign ‘24’  ( represent ing 240 km/h)  on the  ou ter  sca le  to  the  12 am / pm marker.  Locate  ‘80’  on the  ou ter  sca le  and read 
the  corresponding inner  sca le  va lue.  The answer  i s  ‘20’,  indicat ing 20 minu tes .



C A L C U L A T I N G  
D I S T A N C E

To calcu la te  di s tance,  we wi l l  requ i re  va lues  o f  t ime and speed.  

Example :  Given t ime t rave led =  20 minu tes  a t  a  speed of  540 mi les  per  hour ,  what  i s  the  dis tance?

Al ign ‘54’  ( represent ing 540)  on the  ou ter  sca le  to  the  12 am / pm marker.  Locate  ‘20’  on the  inner  sca le  and read 
the  corresponding ou ter  sca le  va lue.  The answer  i s  ‘18’,  indicat ing 180 mi les .

=



C O N V E R T I N G
M I L E S  T O  K I L O M E T E R S

Le t ’s  conver t  100 mi les  to  k i lometers .  A l ign  ‘10’  ( represent ing 100)  on the  ou ter  sca le  wi th  the  STAT 
marker  on the  inner  sca le .  Read the  KM value a t  the  12 am / pm mark .  I t  shows ‘16’,  which  we know to  
mean 160 k i lometers .  



C O N V E R T I N G
K I L O M E T E R S  T O  M I L E S

Le t ’s  conver t  130 k i lometers  to  mi les .  A l ign  ‘13’  ( represent ing 130)  on the  ou ter  sca le  wi th  the  KM marker  
on the  inner  sca le .  Read the  va lue a t  the  STAT indicator ,  approx 80.7 mi les .



F U E L  ( C O N S U M P T I O N )

What  i s  our  fue l  consumpt ion,  g iven the  usage of  30 gal lons  over  120 minu tes?  
(Note  tha t  the  answer  i s  read ‘per  hour ’ ) . .

A l ign  ‘30’  on the  ou ter  sca le  wi th  ‘12’  on the  inner  sca le  ( represent ing 120 minu tes) .  
Read the  resu l t  ‘15’  a t  the  12 am / pm marker ,  indicat ing consumpt ion of  15 gal lons  per  hour.  



A I R C R A F T  
A S C E N T /  D E S C E N T
( C L I M B  R A T E )

Le t ’s  take an example  of  ascent ,  or  the  c l imb ra te  o f  an a i rcraf t ,  

Us ing g iven va lues  o f  6000 fee t  over  20 minu tes ,  a l ign  ‘60’  ( represent ing 6000 fee t )  on the  ou ter  sca le  
wi th  20 on the  inner  sca le .  Read the  va lue oppos i te  the  inner  sca le  un i t  index ‘10’  which  i s  ‘30’.  
Th i s  indicates  an ascent  ra te  o f  300 fee t  per  minu te .



A I R C R A F T  
A S C E N T /  D E S C E N T
( G R O U N D  D I S T A N C E )

Dur ing an a i rcraf t ’s  descent ,  how much ground dis tance i s  covered over  14.8 minu tes  a t  an average speed 
of  120 mph,  a ided by a ta i l  wind of  20 mph? 
Tota l  average speed i s  120 + 20 = 140 mph.

Al ign ing 14 on the  ou ter  bezel  ( represent ing 140 mph)  oppos i te  MPH at  the  12 am / pm marker ,  read 14,8 
on the  inner  sca le  to  ge t  a  dis tance of  34,5 mi les  on the  ou ter  sca le .

 



N A U T I C A L  A N D  S T A T U T E  
M I L E  C O N V E R S I O N

Le t ’s  conver t  60 s ta tu te  mi les  to  naut ica l  mi les .  Se t  ‘60’  on the  ou ter  bezel  oppos i te  the  ‘STAT’  indicator  
on the  inner  sca le .  Now read the  ou ter  sca le  va lue oppos i te  the  ‘NAUT’  indicator ,  which  shows ‘52’,  our  
answer  in  naut ica l  mi les .   


